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What  approximately value  should come in the place of question mark(?)in the following 
questions.

137 % of 12345 =  ?

(A)17000 (B)15000 (C)1500 (D)14300 (E)900



\
What  approximately value  should come in the place of question mark(?)in the following 
questions.

3739 + 164 × 27  =  ?

(A)105400 (B)4000 (C) 8200 (D)690 (E)6300



\
What  approximately value  should come in the place of question mark(?)in the following 
questions.

0.0004 ÷ 0.00001 × 36.000009 =  ?

(A) 0.10 (B)1.45 (C) 145 (D)14.5 (E)1450



\
What  approximately value  should come in the place of question mark(?)in the following 
questions.

3 × ³√6857 × (24.8 ÷ 15) =  ?

(A)82 (B)95 (C) 77 (D)85 (E)101



\
What  approximately value  should come in the place of question mark(?)in the following 
questions.

58.13 × 54.87+ 18.895²   =  ?³

(A)12 (B)20 (C) 9 (D)15 (E)18



\
What should come at place of the question mark (?) in the following number series ?

6 . 18 ,28 , 43 , 66 , ? , 138

(A)97 (B)70 (C)80 (D)58 (E)38



\
What should come at place of the question mark (?) in the following number series ?

7 . 824 , 412 , 412 ,618 , ? , 3090 , 9270

(A)930 (B)1236 (C)907 (D)536 (E)1136



\
What should come at place of the question mark (?) in the following number series ?

8 . 137 , 411 , ? , 3699 , 11097

(A)1233 (B)1133 (C)1223 (D)1033 (E)1023



\
What should come at place of the question mark (?) in the following number series ?

9 . -3 , -2 , 2 , 11 , ?, 52 , 88 

(A)-27 (B)64 (C)16 (D)27 (E)25



\
What should come at place of the question mark (?) in the following number series ?

10 . 16 , 24 , 48 , 120 , 360 , 1260 , ? 

(A)2015 (B)4088 (C)5040 (D)5127 (E)5225



\
Directions (Q. 11-14):- Direction for Question  Direction for Question

Read the following data carefully and answer the questions given below.

Total population of a village from 2012 to 2018:

प्रश्न के लिए लिशा प्रश्न के लिए लििेश लिम्नलिखित आँकड ़ों क ध्यािपूर्वक पल़िए और िीचे लिए

गए प्रश्न ़ों के उत्तर िीलिए। 2012 से 2018 तक एक गाँर् की कुि ििस़ोंख्या:
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Q.11 :- If the number of female in year 2016 is 2/3 of the total number of male, then what is 
the number of male in the village?
यलि र्र्व 2016 में मलििाओ़ों की स़ोंख्या पुरुर् ़ों की कुि स़ोंख्या का 2/3 िै, त गा़ोंर् में पुरुर् ़ों की
स़ोंख्या क्या िै?

(A) 2160 (B)2250 (C)1380 (D)2070 (E)None of these
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Q.12 :- The number of females in 2015 and 2018 is same. If the number of females in 
2018 is 1620, then what is the ratio of the number of males in 2015 and 2018?
2015 और 2018 में मलििाओ़ों की स़ोंख्या समाि िै। यलि 2018 में मलििाओ़ों की स़ोंख्या 1620 
िै, त 2015 और 2018 में पुरुर् ़ों की स़ोंख्या का अिुपात क्या िै?

(A)11:13 (B)188:173 (C)129:59 (D)645: 944 (E)None of these



\
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Q.13 :-From the following, what can be the ratio for number of males and females in year 
2014?
लिम्नलिखित में से, र्र्व 2014 में पुरुर् ़ों और मलििाओ़ों की स़ोंख्या का अिुपात क्या ि सकता िै?

(A)8:7 (B)7:6 (C)6:5 (D)5:4 (E) 3:2



\
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Q.14 :-What is the average (approximately) of population of all the years?

सभी र्र्ों की ििस़ोंख्या का औसत (िगभग) लकतिा िै?

(A)3435 (B)3407 (C)3408 (D)3509 (E)None of these
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Directions (Q. 15-17):- Direction for Question 

20000 candidates are eligible to participate in an election. 600 candidates are eligible 

for the post of MP. 20% of the total candidates are eligible for the post of Prime 

Minister. 18% of the total candidates are eligible for the post of Chief Minister. 25% of 

the total candidates are eligible for the post of Chief Secretary. 4500 candidates are 

eligible for the post of MLA. 10% of the total candidates are eligible for the post of 

Secretary to the Prime Minister and the remaining candidates are eligible for the post 

of Member of the Election Commission.

20000 उम्मीिर्ार चुिार् में भाग िेिे के लिए पात्र िैं। एमपी के पि के लिए 600 उम्मीिर्ार

पात्र िैं। कुि उम्मीिर्ार ़ों में से 20% प्रधािम़ोंत्री पि के लिए पात्र िैं। कुि उम्मीिर्ार ़ों में से

18% मुख्यम़ोंत्री पि के लिए पात्र िैं। कुि उम्मीिर्ार ़ों में से 25% मुख्य सलचर् के पि के लिए

पात्र िैं। लर्धायक पि के लिए 4500 उम्मीिर्ार पात्र िैं। कुि उम्मीिर्ार ़ों में से 10% प्रधाि

म़ोंत्री के सलचर् पि के लिए पात्र िैं और शेर् उम्मीिर्ार चुिार् आय ग के सिस्य के पि के लिए

पात्र िैं।



\
Directions (Q. 15-17):- Direction for Question  

20000 candidates are eligible to participate in an election. 600 candidates are eligible 

for the post of MP. 20% of the total candidates are eligible for the post of Prime 

Minister. 18% of the total candidates are eligible for the post of Chief Minister. 25% of 

the total candidates are eligible for the post of Chief Secretary. 4500 candidates are 

eligible for the post of MLA. 10% of the total candidates are eligible for the post of 

Secretary to the Prime Minister and the remaining candidates are eligible for the post 

of Member of the Election Commission.



\
Q.15 :- What is the difference between the number of candidates for the post of PM and 
election commission member?
पीएम और चुिार् आय ग के सिस्य के पि के लिए उम्मीिर्ार ़ों की स़ोंख्या के बीच क्या अ़ोंतर िै?

(A)2500 (B)3400 (C) 3700 (D)2342 (E)None of these



\
Q.16 :- What is the respective ratio of the candidates who are eligible for the post of MP to 
secretary of PM?
एमपी के पि के लिए पात्र उम्मीिर्ार ़ों का पीएम के सलचर् से स़ोंब़ोंलधत अिुपात लकतिा िै?

(A)3:10 (B) 10:7 (C) 7:10 (D)10:3 (E)None of these



\
Q.17 :- What is the total number of candidates eligible for the post of CM, PM and MLA 
together?
सीएम, पीएम और एमएिए के पि के लिए पात्र उम्मीिर्ार ़ों की कुि स़ोंख्या लकतिी िै?

(A) 12556 (B)12200 (C)12300 (D)12100 (E)None of these



\Q.18 :- I went to a hotel along with 12 friends. I paid Rs145 and all the others paid an equal 
amount. In the end, we did some calculations and found that the average sum paid by all of 
us was Rs5 more than what was originally paid by each of my friends. How much money 
did each of my friends pay? मैं 12 ि स् ़ों के साथ एक ि टि में गया, मैंिे 145 रुपये का
भुगताि लकया और अन्य सभी िे समाि रालश का भुगताि लकया। अ़ोंत में, िमिे कुछ गणिा की
और पाया लक िम सभी द्वारा भुगताि की गई औसत रालश मेरे प्रते्यक लमत्र द्वारा मूि रूप से
भुगताि की गई रालश से 5 रुपये अलधक थी। मेरे प्रते्यक लमत्र िे लकतिा पैसा लिया?

(A)120 (B)100 (C)80 (D)70 (E)None of these



\
Q.19 :- A shopkeeper gives 3 articles free on purchase of 5 articles. He also allows a discount 
of 20% and still earns 25% profit. Find the ratio of cost price and mark price
एक िुकाििार 5 र्सु्एँ िरीििे पर 3 र्सु्एँ लििःशुल्क िेता िै। र्ि 20% की छूट भी िेता िै और
लिर भी 25% िाभ अलिवत करता िै। क्रय मूल्य और अ़ोंलकत मूल्य का अिुपात ज्ञात कीलिए

(A)5:2 (B)2:3 (C)3:2 (D)1:2 (E)2:5



\Q.20 :- Two workers A and B can do a piece of work in 10 days and 12 days respectively. If 
both started to work and A left the work after 3 days, then in how many days the remaining 
work is completed by B
ि कमवचारी A और B एक कायव क क्रमशिः 10 लिि और 12 लिि में पूरा कर सकते िैं। यलि ि ि ़ों
काम करिा शुरू कर िेते िैं और A 3 लिि बाि काम छ ड िेता िै, त शेर् कायव B द्वारा लकतिे
लिि ़ों में पूरा लकया िाएगा?

(A)5 1/5 days (B) 20days (C)21 days (D)5 2/5 days (E)23 days



\
Q.21 :- A man travel a certain distance by train @ 25 km/hr and walks back @ 4 km/hr. the 
whole journey took 5 hr 48 min, what distance did he travel by train ?
एक व्यखि टर ेि से एक लिलित िूरी 25 लकमी/घ़ोंटा की िर से तय करता िै और 4 लकमी/घ़ोंटा की
िर से र्ापस चिता िै। पूरी यात्रा में 5 घ़ोंटे 48 लमिट िगे, उसिे टर ेि से लकतिी िूरी तय की?

(A)64000m (B)20000m (C)74000m (D) 72000m (E)70000m



\
Q.22 :- If the difference between the simple interest and the compound interest earned on a 
certain amount @ 15% at the end of 2 years is Rs. 2.70, then what is the amount?
यलि 2 र्र्व के अ़ोंत में साधारण ब्याि और एक लिलित रालश पर 15% की िर से अलिवत चक्ररृ्खि
ब्याि के बीच का अ़ोंतर रु। 2.70, त रालश क्या िै?

(A) 855 (B) 800 (C)120 (D)875 (E)770



THANKS


